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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)

(i)

(i1i)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

(x)
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This question paper contains 37 questions. All questions are compulsory.
This question paper comprises six sections — Sections A, B, C, D, E and F.
Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

Section C - Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

Section D — Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

Section E - Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

Section F — Question no. 37 is map-based, carrying § marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)

Who among the following organized ‘Depressed Classes Association’
in 1930 ?

(a)  E.V.Periyar

(b)  Jyotiba Phule

(c)  B.R. Ambedkar
(d) Mahatma Gandhi

3> e P.T.O.
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2. Which one of the following regions was called as the ‘Fabled City of

Gold’ ?

(a) Peru

(b)  Mexico

(c) El Dorado
(d) Spain

3. Identify the crop with the help of the given information.

India is the largest producer as well as the consumer of this crop.

This crop provides the major source of protein in a vegetarian diet.

This crop needs less moisture and survives even in dry conditions.

This crop is mostly grown in rotation with other crops.

Options :
(a) Wheat (b) Bajra
(c) Pulses (d) Rice
4, Look at the picture given below and select the correct option from the
following :

B - = R T e e

Which of the following aspects best signifies this image of ‘Germania’ ?
(a)  As a protector of Germany

(b)  As a protector of her child

(c) As a protector of German Rhine

(d)  As aguardian of women’s rights

32/C/3 <5 > e P.T.O.
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Fill in the blank with the appropriate option.

began to maintain index of prohibited books in Rome

during 1558.

(a) Church

(b)  Aristocrats
(c) Protestants
(d)  Industrialists

Match Column 1 with Column 2 and select the correct option from the

following :
Column 1 Column 2
(Soil Erosion) (Explanation)
A.  Gully Erosion I. Water flows as a sheet over large areas
down a slope
B. Wind Erosion II. Ploughing in a wrong way i.e., up and
down the slope form channels for quick
flow of water
C. Sheet Erosion III. The running water cuts through clayey

soils and makes deep channels

D. Defective methods of IV. Wind blows loose soil off flat or sloping
farming land

Options :

(a) A-I, B-II, C-III, D-IV
(b) A-II, B-III, C-IV, D-I

(c) A-III, B-IV, C-I, D-II
(d) A-IV, B-I, C-II, D-III

Which among the following statements is not correct regarding the
Bhairodev Dakav ‘Sonchuri’ ?

(a) It includes 1200 hectares of forest land.

(b)  The inhabitants of five villages in the Alwar district of Rajasthan
declared this ‘Sonchuri’.

(c) They are protecting the wildlife against any outside encroachments.

(d) The rules and regulations followed here are declared by the

government.
7> oy P.T.O.
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8. With which of the following countries does Belgium share its border ?
(a) Italy
(b)  Switzerland

(c) Luxembourg

(d) Spain
9. The Municipal Corporation officers are called :
(a) Mayors (b) MLAs
(c) Sarpanchs (d)  Premiers (Pradhan)

10. In which of the following countries is the participation of women in

politics very high ?
(a)  Finland (b)  Hungary
(c) Russia (d) Latvia

11. Which one of the following is the minority group in Sri Lanka ?
(a) Tamils (b)  Christians
(c) Sinhalese (d) Muslims

12. Which one of the following factors does not play a significant role in the
economic development of a country ?

(a)  Co-operation from other countries on globalisation
(b)  Size of the population
(c) Economic priorities adopted by the Government

(d)  Territorial issues with neighbouring countries

13. In which one of the following options are political parties a necessary
condition ?

(a) Democracy (b)  Authoritarian

(c) Dictatorship (d)  Despotism

32/C/3 <9 > e P.T.O.
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Which one of the following is a correct explanation of Average income ?

(a)
(b)
(c)
(d)

The total income of a population
The income earned by the highest earners in a population
The income earned by the lowest earners in a population

The total income divided by the number of individuals in a
population

Kamalkant is a shopkeeper who pays his taxes on time, however none of

the workers in his shop get any paid leave in the year. On the basis of the

given situation, find out the correct option.

(a)
(b)
(c)
(d)

Workers are employed in the organised sector.
Workers are engaged in the unorganised sector.
Workers are employed in the joint sector.

Workers are employed in the public sector.

Select the developmental goal for a girl from a rich family from the

following options :

(a)
(b)
(c)
(d)

To get more days of work

To get as much freedom as her brother gets
To get electricity

To get better wages

Which of the following Acts would not apply on an enterprise under

organised sector ?

(a)
(b)
(c)
(d)

Minimum Wages Act
National Rural Employment Guarantee Act
Factories Act

Payment of Gratuity Act

11> e P.T.O.
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18. Which of the following is not a feature of a Multinational Company ?
(a) It controls production in more than one nation.
(b) It sets up factories where it is close to the market.
(c) It organises production in complex ways.

(d) It employs labour only from its own country.

19. Why are poor households still dependent on informal sources of credit ?
(a)  Due to the absence of collateral security
(b)  Due to the low interest rates
(c) Due to inaccessibility of rural people to banks

(d)  Due to banks being at far-off places

20. Which one among the following is a far-reaching change in the Economic
Policy of India in 1991 ?

(a)  Removing barriers on trade
(b)  Putting barriers on foreign trade
(c) Restrictions on foreign competition

(d)  Protection to domestic and foreign producers

SECTION B
(Very Short Answer Type Questions) (4x2=8)

21. Explain any two effects of the spread of print culture on poor people in

nineteenth century India. 2
22. Explain the term ‘Feminist’. 2

23. (a) Explain any two technological reforms initiated by the Indian

Government in agriculture. 2
OR
(b)  How has agriculture been the backbone of the Indian economy ?
Explain. 2
24. Analyse the role of tertiary sector in the Indian economy. 2

32/C/3 13> e P.T.O.
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SECTION C

(Short Answer Type Questions) (6x3=15)
(a) Why did the Non-Cooperation Movement slow down in towns and
cities ? Explain. 3
OR
(b)  Explain the participation of the business class in the Civil
Disobedience Movement. 3
How do we conserve resources ? Explain any three ways. 3

»

“Technology has stimulated the globalisation process.” Support the

statement with examples. 3
“Democracy accommodates social diversity.” Examine the statement. 3
Differentiate between Primary and Secondary sectors. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
(a)  Describe the unification process of Germany. 5
OR
(b)  Describe the process of unification of Italy. 5
(a) Examine the importance of manufacturing industries for the
Indian economy. 5
OR
(b)  How can the industrial pollution of fresh water be reduced ? Give
any five suggestions. 5x1=5

(a) Describe the recent efforts that have been made in India to reform
political parties. 5
OR

(b)  Describe the distinctive role of political parties in a democracy. 5

<15 > e P.T.O.
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33. (a) [Explain the role of Self-Help Groups in rural society. 5
OR

(b)  Why is it necessary for banks and co-operatives to extend their

lending activities in rural areas ? Explain. 5
SECTION E
(Case-Based Questions) (3x4=12)

34. Read the following source carefully and answer the questions that follow :

The earliest factories in England came up by the 1730s. But it was
only in the late eighteenth century that the number of factories
multiplied.

The first symbol of the new era was cotton. Its production boomed in
the late nineteenth century. In 1760 Britain was importing 2-5 million
pounds of raw cotton to feed its cotton industry. By 1787 this import
soared to 22 million pounds. This increase was linked to a number of

changes within the process of production. Let us look briefly at some of
these.

A series of inventions in the eighteenth century increased the efficacy
of each step of the production process (carding, twisting and spinning,
and rolling). They enhanced the output per worker, enabling each worker
to produce more, and they made possible the production of storage
threads and yarn. Then Richard Arkwright created the cotton mill. Till
this time, as you have seen, cloth production was spread all over the
countryside and carried out within village households. But now, the
costly new machines could be purchased, set up and maintained in the
mill. Within the mill all the processes were brought together under one
roof and management. This allowed a more careful supervision over the
production process, a watch over quality, and the regulation of labour, all
of which had been difficult to do when production was in the countryside.

(34.1) When did the earliest factories come up ? 1

(34.2) Why were all the processes brought together under one roof and
management in the mill ? 1

(34.3) How did the series of inventions in the eighteenth century increase
the efficacy of the production process ? 2

32/C/3 7> e P.T.O.
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STt foRET ST STEfen Hsigl S8 g e fEd-gue! i Wi @fshd @d € |
TR it faf= afufaat o dieft arfier sk a1 Afet w o g af F a6
T 2aITe) TRt 3w ot &t | efie e & |

(36.1) farfsr= arfdat o sfter wicreaert o= giaferd et @ 2
(36.2) Ted-ave T @ forg Tohm Esiferd € 2
(36.3) | 2l WG o fafir= &l shi ST Shifery |
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35. Read the following source carefully and answer the questions that follow :

A dam is a barrier across flowing water that obstructs, directs or
retards the flow, often creating a reservoir, lake or impoundment. “Dam”
refers to the reservoir rather than the structure. Most dams have a
section called a spillway or weir over which or through which it is
intended that water will flow either intermittently or continuously. Dams
are classified according to structure, intended purpose or height. Based
on structure and the materials used, dams are classified as timber dams,
embankment dams or masonry dams, with several subtypes. According to
the height, dams can be categorised as large dams and major dams or
alternatively as low dams, medium height dams and high dams.

(35.1) What does the word ‘Dam’ actually refer to ? 1
(35.2) Mention any one benefit of a Multi-purpose River Valley Project. 1

(35.3) How have multi-purpose river valley projects a cause of social
movements ? Explain. 2

36. Read the following source carefully and answer the questions that follow :

Power sharing arrangements can also be seen in the way political
parties, pressure groups and movements control or influence those in
power. In a democracy, the citizens must have freedom to choose among
various contenders for power. In contemporary democracies, this takes
the form of competition among different parties. Such competition
ensures that power does not remain in one hand. In the long run, power
is shared among different political parties that represent different
ideologies and social groups. Sometimes this kind of sharing can be
direct, when two or more parties form an alliance to contest elections. If
their alliance is elected, they form a coalition government and thus share
power. In a democracy, we find interest groups, such as those of traders,
businessmen, industrialists, farmers and industrial workers. They also
will have a share in governmental power, either through participation in
governmental committees or bringing influence on the decision-making

process.

(36.1) What does competition among different parties ensure ? 1
(36.2) How are interest groups associated with politics ? 1
(36.3) Explain the different forms of power sharing. 2
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Tus I
(AT 3TeTRE T9) (2+3=5)

37. (%) WRA % T T AT W@I-AFA (I8 23 W), § 3T 10 a1 T &
A 3 B ¥ 3iferd foram 7 2 | 39 T ol i & 8 STHRT A gErdar 9
TESITT 3T 3ok &l I8 3ok Here Tl 78 t@ren w forfaw 2x1=2

(i) o8 T STET 1927 H AT TSR iU T SATER SHT o7 |
(i) o8 T STl iefisht 7 it o @fieti o foTe gemrg et foram o |

@) WA & g Terifaen WAt #, e § @ e @7 s fo=
 3ifeRd ST 7R 3ok A fAfa - 3x1=3
(i) oA
(i) THTISH qTd ferga =i
(i) TR H9eT SFIATSI qTh
(iv) Wﬁ‘f—ﬂ'ﬂ?{-w

T :  HFEITRIA Fo9 Sheel glEartera qhgTieral & 1o7q 97 §e1 37 % T W
febegl irer 391 & I feTla | 5x1=5
(37.1) 39 €A =T T fARIT &Y 1927 H AT TS iUH T SRR g7 o7 |

(37.2) TSI o 3§ T oh1 A1 ferfae Sfet firet Hsiqii  Wefisft o e H geamre
EIRIECRERIRIN

(37.3) 39 U= 1 411 fIRau Sief gare sty feerd 2 )

(37.4) 38 U o1 I ffag Stet wAnfen ardta foregd w2 R 2 |
(37.5) 38 TS 1 T fARGT ST TR Aidearar SoTers ureh fed 2 |
(37.6) 39 TS T T ARET ST fiehiie @xe-ue ford 2 |
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SECTION F
(Map-Based Questions) (2+3=5)

37. (a) Two places A and B have been marked on the given political
outline map of India (on page 23). Identify these places with the
help of the following information and write their correct names on

the lines drawn near them : 2x1=2

(1) The place where the Indian National Congress Session was
held in 1927.

(ii) The place where Gandhiji organised Satyagraha for the
indigo planters.

(b)  On the same political outline map of India, locate and label any

three of the following with suitable symbols : 3x1=3
(1) Salal Dam

(ii)) Ramagundam Thermal Power Plant

(iii) Gandhinagar Software Technology Park

(iv)  Tuticorin — Sea Port

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37.

Answer any five questions. 5x1=5

(37.1) Name the place where the Indian National Congress Session was
held in 1927.

(37.2) Name the place in Gujarat where mill workers organized
Satyagraha under Gandhiji’s leadership.

(37.3) Name the state where Salal Dam is located.

(37.4) Name the state where Ramagundam Thermal Power Plant is
located.

(37.5) Name the state where Gandhinagar Software Technology Park is
located.

(37.6) Name the state where Tuticorin Sea Port is located.
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